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Test#3 Name: ‘
Math 140, Prof. Beydler Wednesday, November 30, 201

Directions: Show all work. No books or notes.s@entific calculatoris allowed. Your desk and lap must be
clear (no phones, notebooks, etc.). Write your answers in the indicated places, or box your afswersuck!

1. (2 points) Evaluate the following integral:
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® | Sx 3
Answer: Zﬂ\,XI -sSe "' —“TX + C

2. (5 points) Evaluate the following integral:

o Qo w= X e-|
] du=2x Adx Answer: 2
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3. (4 points) Evaluate the following integral:

ol Do nw=fax dv=xdx \ ) |
(L W= _l?dx V:%(: Answer; 2 X AXT YK +C
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4. (4 points) Evaluate the following integral:
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5. (3 points) Find the functioiQw whose tangent line has sloge — and whose graph passes through
pft .
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6. (4 points) Find the area of the region enclosed by the curwes cw andw .

27
Find inTercection points; Answer: 4
1 2 2 .
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7. (3 points) A manufacturer supplie&ny  1@n  ur} wthousand bottles to the market when the price

ist) dollars per bottle. Find the average supply as the price variesfironA gon A 1 Be sure to write the
units of your answer.
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8. (4 points) Suppose a demand curve (in dollars per unit)ig

. First, find the price at which

units will be demanded. Then, compute the consumer surplus at that pBeesure to write the units of your

answer.

_0.01(5)

P = D(5) = 4oe ~ $38,05
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CS g (L('Oe'o'mq - 33.05) dq

0
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(~1000e " -38.05¢ )

S
0

Unit priceat which 5units demanded g 3 .05

Consumer surplus ﬁ; 4. g 3

_ ,qoooq—o'mm%%.O’S(GB - (—40009°—3sg,o€ )

~3904.92 - 140.25 + 4000

= H.83

9. (5 points) Either evaluate the given improper integral or shthat it diverges.
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10.(3points) ! &S { A Youlelwith§ Qeito approximate Mp @& Q@ (Round to 3 decimal places.)
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11.(1 point) Let"Qw be continuous on the interval ¢

QwQw v QwQw ¢

~ | 14¢€

@ oand satisfy

Use this information along with the rules for definite integrals to evaluate the following

3 3
Vb Qb = g £(x)d ”g FCx = 5"('1'3
-2 |

12.(4 points) Find the general solution of the differential equatien

Answer:; 7

———. Be sure to solve fabin
terms ofa
2] (3x-1)3
1 :§ gx")lolk u= Ix-( Answer: J 3 +C
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